SUPERCHARGER INLINE LINKAGE KIT

PART #7167

LINKAGE HEX SHAFTS (#3), (#4) MAY BE POSITIONED ON EITHER SIDE OF LEVER ARMS (#7).
Two (#9) rod end bearings support the cross-splined shaft (#10).

ltem OQty. Description
1 (1) Supercharger Bracket f
for “T” Bar
2 1) Linkage “T” Bar with
Bearing
3 (2) Aluminum Hex Shaft
7” long
4 1) Aluminum Hex Shaft
4” long
5 3) 10-32 Left Hand Male
Rod End
6 3) 10-32 Right Hand
Male Rod End
7 4) Splined Lever Arms
8 (2) Linkage Support
Bracket
9 (2) 5/16” Male Rod End
10 (8] 5/16” x 10” Splined
Shaft
11 Q) 5/16” x 1 3/4” Splined
Shaft g i i :
12 (4) Brass Linkage Pilot Bracket #1 is positioned for a
13 (3 10-32 Nylon Lock Nut front entrance throttle cable as

14 (2) 1/4”-20 Hex Head Bolt found on most marine applications. |

15 (2) 1/4” AN Washer - ; B 7

16 (5) 10-32 Nylon Lock Nut

17 2) 5/167-24 Nut

18 (2) 10-32 x 1” Socket
Head Cap Screw

199R10133



Side view of linkage kit

199R10133
Date: 10-15-99



